Mathematics - Muttiplicative Change
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What do | need to be able Keuwords
fo do? Proportion: a statement that inks two ratios
By the end of this unit you should be able to: Variabe: a part that the vale can be changed
*  Solve problems and expian direct

» ke conversion graphs to make.

statements, comparisons and form
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Opproximation: an estimale. for a value I
Scake Factor: the multiple. thai ncreases/ decreases a shape in size :
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' : Oxes: horizontd and vertical ines that a araph s plotted around
: proportion |
| I
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conchsions Currercy: the system of money used n a particular country
* Understand and use seae factors for Conversion: the process of changng one vanable to another
lenth Scake: the. comparson of something drawin to its actud size |
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: Dlrect Proportlon ?&W ”mf*ﬂ changes the ofter changes ol ” Corwersion Graphs Compare two varates :
ame rate
| = In e Ths fs days a straieh. ine because ds one varicbe. |
| Rk This s a multpleatie chnge | fjié ol - Increases so does the other at the same rate |
: 4 cars of pop = £240 4 cans of pop = £240 . : l £ . :
o (87) 0
| 5 4 cans of pop = £240 ~_ ’“‘g L% cane of pop = U‘QO;) 1] T mies To make conversions belween unils you need to find the |
| g Jeans of £120 Do 1 pont 1o compare — then find the. dssociated pont by |
| o Sometimes th s eseiest Il | Lobeling of both axes USI Your graph |
I Ths mulpler & Lhe. same. if you work out how much | 11 s td Usig a rler helps for accuracy L |
I h the same way that the ane wit is worth first I Showing your conversion Iries hep ds a “check” for |
| would be for ratio eq leanof pop=£060 | I sotions [
| ————————  _—_—_—_—_—_——__ . _ _  _______
| Conterson belveenomores. | S92 BE= S p | Ralio belneen: i |
| Conversion between currencies = - i Ratio between simiar shapes |
| £1-90 Rupees ¢ Currency is drectly proportiond 1| Ongls in simiar shages do not change |
| For every £1 £ 1= 90 Rupees b Y ] ¢4 1f a tnange gets bsger the andles can I
I | have 90 Rupees =( = I not g above. 180° |
I I I
£10 = 900 Rupees
| CUHEI’ICQ can be. converted pee | I The two rectangles are similar. :
I g Using 4 Conversion araph I s[4
| & ’ 7 Converl 630 Rupees nlo Pounds ] Bm I
I £ 1= 90 Funees l I wrwm M I
: ~C “"""‘D“;r""“o‘%” :Im o ) wcﬁ'ﬂ Uim bk Smpfy to tre :
' same. ratio
| - 630 Rupees I: Im 15m Im [5m |
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| Understand Scake Factor : : Draw and interpret scale diagrams 11 Interpret maps with scake factors :
: Th rectangles are Slmlt'?;@ : : 0 peture of a cor s drawn with a scale of 130 : : -0 - 100 - 1000 :
)
| @] | 1 Ny |
I 7m T : : mm om m km |
| 3¢ 1549 \ 1 T 2 U AN |
| This is a multipicative change II I x 10 x100  x 1000 |
- Falios need 1o be n The
| o § 5x 15 u||mm-mus ﬁ“ T |
I scjé EZ;{?:U o [ 10em Image. ReaI ife I m same units |
| I o b D‘:’ I eom 250m |
| Sese foctor can ko Bigaer correspondna side, : : >Gon 306m - 25000:\ 250 100 - 25000 :
| be caedoted by, Smaler corresponding side Il e "
| : : The car n real ife Il :
| EN is 210cm mage. Red K I
| x SF I o 30 N = I I
Small corresponding side Big correspondng sde. | | ™~ " " D —~ I | |
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Mathematics - Bracket, Equqﬁons= Year 8I

& Inequalities
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What do [ need to be able 11 Heuwords
to do? Simpify: grouping and combining similar terms
By the end of this unit you shoud be able to: Substitute.: replace a variable with a numerical vale
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Form Expressions : : Equivalert: something of equal vale |
Expand and faclorse sngl brackels | Coefficient: g number used to mutiply g variable I
I |
I
I |
I |
I

Form and solve Bﬁ.bUCitIDI’IS PrOd.Bt: mUIIlPIg term@
ooke equalons wilh briekels Highest Common Factor (HCF): the biggest factor (or number that multiples to gve a term)

Represent inequalties _ _ .
Form and sokee. ineqities Ihequaity: an nequaity compares who values showing If one s greater than, less than or
equd to another

' Form expressions  For urknown varabks, a letter II Directed numbers

| s normaly used i its place
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- More than — ODD ||++ —> + |: X4 x\ ¥ |
- Less than/ difference — SUBTROCT 1 l| 3y |3x 4 E % % [
I eg 4moe thnt ———> t+4 == -t INERL 0 =1 L'1S :
| Blessthnk ——— k-8 ” o |: — : |
: Only similar terms can be. grouped together ” 4 _ II ox+ 2 o+ :
| eg Find the permeter of this shape 1 epa--5amdb-2 l: 4 +4 +4 Difesert |
A (Perimeter = length around outside of shape) | Feaxas5r_5 35 :I Y] P lx] < [RIR] 4]  revesertaiors of |
: Jra | tedteletedtel — Gt+2 ”b+a=2*75=—5 H e+ 2 3(x+4) = 6x + 12 :
e T = s A fr-————- - - T T -
| Factorise into a single bracket & + 411" Solve equations with brackets 3(x +4) = 30 |
I
| ‘ INETHETHEER +4)- I
| B+ 4 I4 — Tryand moke U}Z;I;Mm || 30 3+ 4= 30 Expand the brackels :
VIR H B < [ <o - |
| — hahie e . r |
| [ o o vabes milytoseter o the e of te ecange :| IOOOnEEE - LGRSt
I Note | : 0 _: fraction or decima l
| fea=a(xr) R R R L e e ox- 18
| Tre s foctorsed ot the. 11 L] ||5 L] 6 -6 Xx=3 OOOI
I HCF has not been used |I . I
———— e ——— I_____________:::==:=========I
M L | == === ! |
| Simpke Inequaities || Form and solve inequalties Olgebraic constructs |
. |
<less than < Less than or ” Two more. than tredle my Expression |
equd to 5 nurber s gredter than |1 0 sentence with a minimum of two numbers and |
4 I
> More than > More than or Il T one. maths operation
equdl to Il Find the possible ranae. of vdues Eqmtm
- Il
x< 10 I Form e R S e L O statement that. two things are. equal
Say this out. loud Il D
X & @ vale kess than 10° X+l

( single. number or variable

Identity

0>x
Say this out loud
10 s more. than the, vale”

Note
x<10 ond 10>x
represent the same

Il X — -3 4— -1 *— ||

__________g_________ﬂ

Il ¥ 3 On equation where both sides have. varables
vales Il Check that cause the same answer nclides =
x+2<20 Il Formula

. . This would suggest any vale bigger than 3 salisfies the ormu
xmg <”°ri“£a A5 s thon o equal o 20 ” slatement O rule wiritten with dll mathematied symbols
| T bogest the e con e s 8 TR A eg areaof arectange O -bxh
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